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Exponentlal Growth/Decay HW )%

Determine if the function represents a growth/decay. Identify the |mt|a| value, growth factor and rate.
(Do not graph)
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6. The mice population is 25,000 and i decreasmg by 20% each year. erteJa model for thls situation. )/
\ = a5000(0.%0)"

a. Given the model for #6, what wnll be the mice popula’non after 3 years?

7. Ahouse that costs $200,000 will appreciate in value by 2% each year. Write a function to model the cost

of the over time. QO OI v eole ( [ O&B)

a. Find the value of the house at the end of 10 years
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Graph the following functions. State the initial value, domain, range and asymptote'

8. f(x) = —3% 9.9(x) =2*-3 10. h(x) = 10**3 :
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13. The consumption of soda has increased each year since 2000. The function C(t) = 179(1.029)¢ models
the amount of soda consumed in the world, where C is the amount consumed in billions of liters and tis the
number of years since 2000. Graph and sketch the function. How
much soda was consumed in 2005?
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